flux

A? / 0.4924

A? / 0.4934

o
M

100

—100

Fe2 + Continuum Fit

0. 4924

oy 177 km/s

Opep 424 +/— 241 km/s
e

2
X2 / 4579 =

a1 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1
1500 2000 2500 3000 3500
Rest A (&)
Fe2 Scale Factor x2 Diagnosis

oy 177 km/s 0.00413(43) x i / 4579 O 4924

— T T T T — T 1 ] 1 T
- rm365 RMS 6. 28 .
K MAD 5.03 |
i | L L | L L | L L L L | L L L L | L L L L | L L L 1

2x1073 3x107° 4x1073 5x107° 6x107> 7x1073

Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
oy, 117 2698 prior 225 km/s —860(240) X2min / 4579 = 0.4924
T T T T I T T T T I T T T I T T T T I T T T T I T T T T I T T T T
I rm365 RMS 18.6 T
MAD 12.3 7
L | L L L L |
3000

Fe2 Dispersion (km/s)




